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X sy sl 1A | 2H [ 3A | 4H | A | 6H [ 7H | 84 | 9A | 10H [ 114 | 124

7 ¥ 251 | 18| 22| 26| 18| 18| 19| 24| 23| 18| 26| 20| 19

B % 112 7] 13 7 9 7 2 14 9 9| 15 9| M

A I| 139 11 9 19 9 11| 17| 10| 14 9| 1| M 8

th x| 42 5 6 5 5 2 2 2 4 2 3 3 3

B % 16 2 3 2 1 1 - - 1 1 1 2 2

A T 26 3 3 3 4 1 2 2 3 1 2 1 1

H x| 31 2 3 7 3 2 1 2 1 3 2 4 1

B % 15 1 3 2 2 1 - 1 - 3 1 - 1

A T| 16 1 - 5 1 1 1 1 1 - 1 4 -

] x| 23 2 - 1 1 4 2 - 5 1 2 3 2

B 10 1 - - - 2 - - 2 1 1 2 1

A T 13 1 - 1 1 2 2 - 3 - 1 1 1

[} x| 38 - 6 - 2 3 2 8 3 2 7 3 2

B 22 - 5 - 1 2 1 7 - - 3 2 1

A T 16 - 1 - 1 1 1 1 3 2 4 1 1

7 e mMOX| 44 2 1 5 3 4 7 2 3 5 5 4 3

B 8 18 - 1 1 2 1 1 1 1 1 4 3 2

A T 26 2 - 4 1 3 6 1 2 4 1 1 1

7 e oAb x| 28 5 2 2 1 1 4 4 2 3 1 - 3

B 10 3 - 1 1 - - 1 1 1 - - 2

A T 18 2 2 1 - 1 4 3 1 2 1 - 1

%@ = x| 11 - 1 1 - - - 3 1 1 - 2 2

ST /N I - - 1 - - - 3 1 1 - - 1

A I 4 - 1 - - - - - - - - 2 1

a3 1A x| 34 2 3 5 3 2 1 3 4 1 6 1 3

B 14 - 1 - 2 - - 1 3 1 5 - 1

A T 20 2 2 5 1 2 1 2 1 - 1 1 2
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e | g | O | | g | e

R 144 52 38 14 4.5 3.3 1.2

15 59 47 12 5.1 4.1 1.0

16 45 38 7 4.0 3.4 0.6

17 34 27 7 3.1 2.5 0.6

18 40 33 7 3.6 2.9 0.6

19 39 36 3 3.4 3.1 0.3

20 44 37 7 3.9 3.3 0.6

21 46 34 12 4.0 3.0 1.0

22 46 34 12 4.0 3.0 1.0

23 4 36 5 3.6 3.1 0.4
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ES Gy | ##c| 1H | 2H | 3A | 4H [ 5H | 6H | TH | 8H | 94 [ 104 [11H | 12H
T3 & M 2 1 5 2 1 4 4 9 5 4
® B % B 36 2 1 4 2 - 4 3 8 4 4
BfammER®ET 6 - - 1 - - 1 - - 1 -
th x| 5 - - 1 - - - - 1 1 - 1 1
% M O P 5 - - 1 - - - - 1 1 - 1 1
R SE T - - - - - - - - - _ _ _
W [X. 4 - - 1 - 1 - - - - 1 1 _
% # o pE 3 - - 1 - 1 - - - - 1 - _
REEAN T 1 - - - - - - - - - - 1 -
] x| 3 - - - - - - - 1 1 - - 1
% W x E 3 - - - - - - - 1 1 - - 1
A RS - - - - - - - - . . _ _
2] X[ 8 - 1 - - 1 1 3 - - 1 1 -
% M ok B 7 - 1 - - 1 - 3 - - 1 1 _
REEAN T 1 - - - - - 1 - - - - - -
7 e oM OK| 11 - - - 2 - - 1 2 - 4 9 -
wowm oo ol | - -| =2 -| -| 1| 1| -| 3| 2| -
wgrerEel 2| - - | - | | - | - ) |
EZS G A S I 2| - 1 -t -1 -1 -1 -1 - - -| 2
wowm o el s 2| -| 1 - -| -| -| -| -| -| -| 2
A RS T - - - - - - - - - , , _
7 & K2 - - 2 - - - - - - - - _
% MW E PE 1 - - 1 - - - - - - - - -
R A AR T 1 - - 1 - - - - - - - - -
e 1A X 3 - - - - - - - - - 3 — _
wowm oo 3| - - -| - -1 -l -1 -l -| 3| -| -
A RS T - - - - - - - - - - - - -
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ol 12 | 22 | 28 | 37 ol 12 | 22 | 28 | 37 Mol 12 | 22 | 28 | 37
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! ! ! oL ! ! ! oL ! ! ! oL
s |2t |27 |36 | | s |20 | 27 |36 | b | s |21 |27 |36 | p
“ E 4 251| 215 71 21 8| 1121 76 1 21 8 139| 139 - - -
i X 42| 37 2 1 2| 16| 11 2 1 2l 26| 26 —| —| -—
i X 31 28] — 31 —| 18] 12| - 31 —| 16| 18] —-| —| —
&3] X 231 20 1 1 1 10 7 1 1 1 13 13 —| —-| -
[if) X 38 31 2 4 1 22| 15 2 4 1 18 18] —| —| -
% o om K 44 35 1 6 2| 18 9 1 6 2l 26| 26 —| —| -—
7 oAb K 28 23 1 3 1l 10 5 1 3 1l 18] 18] —| —-| -
7 = X 11y 10| - | - 7 6| — 1 - 4 af - - -
1 1A X 34 311 — 2 1 w4 1| - 2 1 20 20 —-| —-| -
F=42 TERRBAFHAICHT-BOEE OEEHR) BIFEEL
CTTRDN s
2 ER 3k & B AN L 3 JE
ol 12 | 22 | 28 | 37 ol 12 | 22 | 28 | 37 w12 | 22 | 28 | 37
F fip i i i
l 0 ! 5 { 0 ! 5 l 0 0 o)
s |20 [ 27 |36 | - | om |20 |27 |36 | | s |20 |27 |36 |
E N g 251 215 71 2 8| 112 76 1 2 8| 139| 139 - - -
15 B KR 3 31 —| —| - - —-| —-| —-| - 3 31 —| —| -
15 ~ 19 % 2711 26 i - - 1 - i -1 -1 26 26 - -] -
20 ~ 24 % 321 30 1 | - 4 2 1 i —| 28] 28 —| —| -
25 ~ 29 % 51| 46 1 3 | 21| 16 1 3 1l 30 30 —| —-| -
30 ~ 34 % 69| 55 3 8 3] 50| 36 3 8 31 19 19 —| —| -
35 ~ 39 % 52| 40 1 9 21 29| 17 1 9 2 23] 23 —| —| -—
40 ~ 44 % 7l 15 —| — 2 7 51 —| — 21 10| 10f —-| —| -
e ) 1t - -1 =t -1 -1 =1 -1 -1 -1 -1 -1 -1 -1 - -
=43 BOEHE ORmREHR) AIH =X BIFEER
(BT + A) YRR 234E
s it RE i S i REEEEAEEEEEE
E N ] 251 42 31 23 38 44 28 1 34
15 % R i 3 — 1 — — — 1 — 1
5 ~ 19 5% 27 4 6 3 1 4 4 — 5
20 ~ 24 % 32 7 2 3 3 4 6 1 6
25 ~ 29 % 51 11 3 5 12 9 5 3 3
30 ~ 34 % 69 10 12 4 10 15 7 4 7
35 ~ 39 % 52 8 7 5 9 9 4 1 9
40 ~ 44 5% 17 2 — 3 3 3 1 2 3
e 72 1t — — — — — — — — —
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(HAL : F) - 234
X 53 Wi | 1A | 2H | 3H 45 50 (683 | TA [ 83 | 97 | 104 | 117 | 12A
23 # 6,775 481 519 737 602 632 489| 561 437| 503| 478 789 5417
== X 882 67 81] 101 70 71 62 84 54 58 55| 101 78
W X 632 41 34 63 63 57 46 66 42 44 40 85 51
2] X 861 59 68 89 7 91 54 65 54 65 65] 100 74
ic) X 1,284 801 102| 121 115 128 99| 117 93 87 99| 147 96
7 == 1,335 100 93] 139 122 126 108 112 82| 117 105| 144 87
27 = At X 671 52 54 92 65 67 40 47 30 50 38 80 56
e - X 438 42 27 56 33 37 34 27 32 32 26 46 46
= =] X 672 40 60 76 57 55 46 43 50 50 50 86 59
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% B i 19 24 29 34 39 44 49 54 59 s
@ % |5166 —| 62 790| 2112| 1,357| 585| 184| 53| 14| 5| 4| -—
15 & A& - — — — — — — — — — — — —
15 ~ 19 53 137 — 51 52 24 7 2 1 — — — — —
20 ~ 24 % 1,084 — 111 544 390 103 26 4 3 1 2 — —
25 ~ 29 % 2,319 — — 1711 1,426 5501 141 19 3 — 2 —
30 ~ 34 % 1,118 — — 19 238 584 215 49 8 3 1 1 —
35 ~ 39 57 407 — — 4 32 104 176 74 14 3 — — —
40 ~ 44 53 81 — — — 2 7 22 34 14 2 — — —
45 ~ 49 % 19 — — — — 2 3 3 7 2 2 — —
50 ~ 54 % - — — — — — — — — — — — —
55 ~ 59 % - — — — — — — — — — — — —
60 % LKL E 1 — — — — o o - - I -
s 7t S I e e
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FTA6  FRA A = T RNIRF n

(AT« k)
JE B UN-TE 4[E
PN FS A

i F1 50 4F 26.7 24.4 27.0 24.7
60 28.0 25.3 28.0 25.2 28.2 25.5

Wopk 6 4R 28.1 26.0 28.0 25.7 28.5 26. 2
7 28.1 26.1 28.0 25.9 28.5 26. 3
8 28.1 26. 2 27.9 26.0 28.5 26. 4
9 28.1 26.4 28.0 26. 1 28.5 26.6
10 28.2 26.6 28.1 26. 3 28.6 26. 7
11 28.4 26.8 28.2 26.5 28.7 26. 8
12 28.6 27.0 28.3 26.7 28.8 27.0
13 28. 8 27.1 28.5 26. 8 29.0 27.2
14 28.9 27.4 28.6 27.1 29. 1 27.4
15 29.3 27.7 28.9 27.3 29.4 27.6
16 29.4 27.8 29.1 27.5 29.6 27.8
17 29.5 27.9 29.3 27.6 29.8 28.0
18 29.7 28.2 29.5 27.8 30.0 28.2
19 29. 8 28.2 29.5 27.8 30.1 28.3
20 29.9 28.3 29.7 28.0 30. 2 28.5
21 30. 1 28.5 29.8 28.2 30. 4 28.6
22 30. 2 28. 8 30.0 28. 4 30.5 28.8
23 30. 4 28.9 30. 1 28.6 30.7 29.0
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&A1 RRIZH =R B IR

BEhEHeE!

(AT - ) ik 234F
X 2y | k| 1A [ 2A | 3H | 43 | 5A [ 6A | 7TH | 8H | 9A |10 | 114 | 124
73 #(2,249( 158 194| 250 217 173 179 183 196 190, 168| 154 187
G2 x| 269 15| 22| 23| 26| 18| 28] 20 17| 27| 18] 24| 31
3 x| 242 9| 22| 28 24| 19| 19| 25| 32| 24| 17| 10| 13
£ x| 227 22| 19| 29| 25| 13| 14| 17| 24| 25| 10| 13| 16
[ic} x| 354 26| 31| 51| 25| 32| 24 29| 33| 21| 34 20| 28
2 M m X| 4v8| 39 44| 47| 42| 32| 38 55| 37| 41| 32| 32[ 39
7 f Jb x| o297 21| 25| 26| 41| 25| 30| 11| 27 19| 26| 24 22
% B x| 140 9| 11| 14 8| 13| 10| 12 9| 16| 11| 16| 11
e 1A x| 242 17| 201 32| 26| 21| 16| 14| 17| 17| 20| 15| 27
48 FEEER A 1= 5B HARE Bl B B 44 2
(BT« 1) PRL234E
[Fi Je=- 440 i 5y B s #wH REIES Fnfi Rt
# - 2,249 1,968 216 1 21 43 —
6 7 H K W 63 54 6 — 1 2 —
64 A ~ 1R 97 86 7 — 1 3 —
14 ~ 24ERTH 135 129 5 — — 1 —
24~ SHERIH 159 145 12 — 1 1 —
3~ AR 128 113 14 — 1 — —
4EE ~ BEEAR 128 117 9 — — 2 —
BEE ~ 104 A 466 403 44 — 8 11 —
104E~ 154E KT 333 277 47 1 2 6 —
154E~ 204E AT 271 225 39 — 2 5 —
20 4 Lk 347 308 25 - 3 11 —
N 3 122 111 8 — 2 1 —
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